Sur la figure ci-contre on sait que :
(d1) // (da)

(ds) L (da)
(da) L (d>)
(d1) L (ds)

Prouver que :
(ds) //(d2) 5 (di) //(d3); (d1) L (da) ; (ds) L
(ds)  (ds) // (da).

Sur la figure ci-contre on sait que :
(d1) // (d)
(d3) L (da)
(da) L (d2)
(d1) L (ds)

Prouver que :
(ds) // (d2) ; (di) // (d3) ; (d1) L (da); (ds) L
(ds)  (ds) // (da).

Sur la figure ci-contre on sait que :
(d1) // (d2)

(ds) L (da)
(da) L (d2)
(d1) L (ds)
Prouver que :

(ds) // (d2); (d1) // (ds); (d1) L (da); (ds) L
(ds)  (ds) // (da).

Sur la figure ci-contre on sait que :
(d1) // (d2)
(ds) L (da)
(da) L (d2)
(d1) L (ds)

Prouver que :
(ds) //(d2) 5 (di) // (d3); (d1) L (da); (ds) L
(ds)  (ds) // (da).




